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Njrpa fzf;fPL njhlu;ghd 
tpdhf;fs; 

nghUspay; 
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gy;Nju;T tpdhf;fs; 
 
1) Njrpa fzf;fPl;by; ,ul;il vz;zy; jtW Vw;gl fhuzkhf miktJ. 
 1. $l;ba ngWkjpfs; fUj;jpy; vLf;fg;gLjy;. 
 2. nkhj;j cw;gj;jpg; ngWkjpfs; fUj;jpy; vLf;fg;gLjy;. 
 3. tupfs; cs;slf;fg;gly;. 
 4. ,Wjpg; nghUs; ngWkjp fUj;jpy; vLf;fg;gly;. 
 5. fhuzpr; nryTfs; fUj;jpy; vLf;fg;gly;. 
 
2) gpd;tUk; rkd;ghLfspy; Vw;GilaJ vJ? 
 1. re;ij tpiy = mbg;gil tpiy + Njwpa kiwKf tup. 
 2. cw;gj;jpahsu; tpiy = Efu;Nthu; tpiy - Njwpa kiwKftup 
 3. re;ij tpiy = cw;gj;jpahsu; tpiy + ,wf;Fkjp njhlu;ghdtupfs; 
 4. mbg;giltpiy = fhuzpr; nryT tpiy + ngWkhdj; Nja;T 
 5. re;ij tpiy = mbg;gil tpiy + cs;ehl;Lj; Njwpa     

 kiwKftupfs; 
 
3) tUkhd topf; fzpg;gPl;by; cs;slq;fhj tUkhdkhff; fUjg;gl KbahjJ. 
 1. Xa;T+jpa ngWtdT 
 2. Ranjhopy; tUkhdk; 
 3. gq;F tpw;gid tUkhdk; 
 4. tPl;Lj;Jiw murplk; ngWk; tl;b tUkhdk; 
 5. Njrpa nyhj;ju; rigapy; ntw;wpngw;w rPl;L tUkhdk; 
 
4) jw;NghJ kj;jpa tq;fpapd; nkhj;j cs;ehl;L cw;gj;jpg; ngWkjp 
fzpg;gPl;il rupahff; fhl;LtJ. 

  1. Fwpj;j fhyj;jpy; ,yq;ifapDs; cw;gj;jp nra;ag;gl;l nkhj;j  
   cw;gj;jpg; ngWkjp. 

  2. cw;gj;jpahsu; tpiyapy; fzpg;gplg;gl;l cs;ehl;L cw;gj;jpfspd; 
   nkhj;jf; $l;ba ngWkjpAld; Njwpa ,wf;Fkjpfs; njhlu;ghd tup 
   Nru;f;fg;gLtJ. 

  3. mbg;gil tpiyapyhd cs;ehl;L cw;gj;jpfspd; $l;ba ngWkjp. 
  4. eilKiw fhuzpnryT mbg;gilapyhd cw;gj;jpg; ngWkjpfs;. 
  5. eilKiwf; fhuzpr; nryT mbg;gilapyhd cw;gj;jpg; ngWkjpfs;. 

5) nkhj;j cs;ehl;Lr; nryT vd;gJ gpd;tUtdtw;wpy;. 
 1. tPl;Lj;Jiw Efu;T + mur Efu;T +  nkhj;j epiyahd%yjdnryT 
 2. nkhj;j Efu;Tr; nryT + nkhj;j epiyahd %yjd Mf;f nryT 
 3. mur Efu;T + nkhj;j cs;ehl;L %yjd Mf;fr; nryT 
 4. jdpegu; Efu;T + mur Efu;T + nkhj;j cs;ehl;L %yjd Mf;fr; 
   nryT 
 5. tPl;Lj;Jiw Efu;T + mur Efu;T + nkhj;j cs;ehl;L %yjd   
   Mf;fr; nryT 

6) gpd;tUtdtw;Ws; cw;gj;jp vy;iyapDs; mlq;fhj tplak;. 
 1. re;ijapy; tpw;gidahFk; midj;Jg; nghUl;fs;; NritfSk;. 
 2. cw;gj;jp nra;jtw;Ws; cw;gj;jpahsd; jkf;fhf itj;jpUf;Fk; gFjp 
 3. rk;gsk; ngWk; Copau;fs; %yk; epiwNtw;wg;gLk;       
   FLk;gNtiyfSk; jdpg;gl;l NtiyfSk; 
 4. gzg;gj;jpuq;fSld; njhlu;ghd nfhLf;fy; thq;fy;fs;. 
 5. Jzp ijj;jy;> njhg;gp nra;jy; Nghd;w tPl;Lg; nghUl;fspd;   
   cw;gj;jp 
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7) nkhj;jj; Njrpa tUkhdk; jug;gLkplj;J nkhj;j cs;ehl;Lr; nrytpidf;           
fzpg;gjw;F vj;jifa rPuhf;fq;fis Nkw;nfhs;tPu;. 
 
 ,y Vw;Wkjp ,wf;Fkjp Njwpa ntspehl;L 

Kjd;ik tUkhdk; 

1. $l;Ljy; $l;Ljy; $l;Ljy; 

2. fopj;jy; fopj;jy; fopj;jy; 

3. $l;Ljy; fopj;jy; fopj;jy; 

4. fopj;jy; $l;Ljy; $l;Ljy; 

5. $l;Ljy; fopj;jy; $l;Ljy; 

8) fw;gpjkhd Njrpa fzf;fPl;bd; juTfs; tUkhW. 
 
 
 
 
 
 
 
 
 
 
 
 
NkNy jutpidg; gad;gLj;jp nkhj;j cs;ehl;L %yjd Mf;fj;jpd; ngWkjp ahJ? 
 1. 1350 kpy;ypad; &gh 
 2. 1150 kpy;ypad; &gh 
 3. 2150 kpy;ypad; &gh 
 4. 750 kpy;ypad; &gh 
 5. 2500 kpy;ypad; &gh 

tif njhif 
kpy;ypad; &gh 

nkhj;j cs;ehl;L cw;gj;jp 2300 

Vw;Wkjpfs; 800 

tPl;Lj;Jiw Efu;T 750 

murpd; Efu;Tr; nryT 600 

,wf;Fkjpfs; 1000 

9) xU ehl;bd; Njrpaf; fzf;fPL njhlu;ghd juTfs; fPNo jug;gLfpd;wd. 
 
 
 
 
 
 
 
 
 
 
 
 
NkNy cs;s juTfspd; gb nrytplf;$ba nkhj;jj; Njrpa tUkhdk; ahJ? 
 1. 2200 kpy;ypad;  
 2. 1400 kpy;ypad;  
 3. 1700 kpy;ypad;  
 4. 1750 kpy;ypad;  
 5. 1450 kpy;ypad;  

tpilak; njhif 
kpy;ypad;  

nkhj;j cs;ehl;Lr; nryT 1800 

Njwpa Vw;Wkjpfs; -400 

Njwpa ntspehl;L Kjd;ik tUkhdk; 200 

Njwpa ntspehl;L eilKiw khw;wy; 100 

Neu; tupfs; 50 
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10) gpd;tUtdtw;Ws; kpfr; rupahd tpilapidf; nfhz;l njhFjpapid ,dq;fhz;f. 
 

,y tsg;gad;ghL tsf;fpilg;gdT 

1. Vw;Wkjp +,wf;Fkjp + KjyPL cs;ehl;Lw;gj;jp +  ,wf;Fkjp 

2. Vw;Wkjp + KjyPL+ cw;gj;jp ,wf;Fkjp +  cs;ehl;Lw;gj;jp  

3. Efu;T + KjyPL +  Vw;Wkjp cs;ehl;Lw;gj;jp +  gz msT 

4. Efu;T + KjyPL +  Vw;Wkjp cs;ehl;Lw;gj;jp +  ,wf;Fkjp 

5. Efu;T + KjyPL +  ,wf;Fkjp cs;ehl;Lw;gj;jp +  Vw;Wkjp 
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gpd;tUk; rkd;ghLfspYs;s ,ilntspfis epug;Gf. 

 

  

1) re;ij tpiyfspy; 
nkhj;j cs;ehl;L  

=  mbg;gil tpiyfspy; 
nkhj;jf; $l;ba ngWkjp 

+ ……………………. 

2) …………………….. =  nkj;jj; Njrpa tUkhdk; - nkhj;j cs;ehl;L 
cw;gj;jp 

3) Njwpa nkhj;j 
cs;ehl;L cw;gj;jp 

=  nkhj;j cs;ehl;L 
cw;gj;jp 

- ……………………. 

4) Njwpa Njrpa 
tUkhdk; 

=  nkhj;j cs;ehl;L 
cw;gj;jp 

+ epiyahd    
%yjd Efu;T 

- ……………
……………
…………… 

5) cw;gj;jpahsd; 
tpiy 

=  mbg;gil tpiy + ……………………. 

6) mbg;gil tpiy =  fhuzpr; nryT + ……………………. 

7) nfhs;tdthsu; 
tpiy 

=  cw;gj;jpahsu; 
tpiy 

+ fopf;fg;gl 
Kbahj VAT 

- ……………
……………
…………… 

8) nkhj;j 
cs;ehl;L tU-

khdk; 

=  Ntiy 
tha;g;G 
tUkhdk; 

+ ……………
……………
……………. 

+ ……………
……………
…………… 

thlif 
tUkhdk; 

9) nkhj;jj; Njrpa 
tUkhdk; 

=  Njwpa Njrpa tUkhdk; + ……………………. 

10) nkhj;jj; 
njhopw;ghl;L 

kpif 

=  Njwpa 
njhopw;ghl;L 

kpif 

+ epiyahd    
%yjd Efu;T 

- ……………
……………
…………… 

11) Kjdpiy 
tUkhdk; 

=  Copau; 
tUkhdk; 

+ cw;gj;jp kw;Wk; 
,wf;Fkjp 

kPjhd Njwpatup 

+ fyg;g 
tUkhdk; 

……………
……………
……………. 

+ 

12) ……………………
……………………
……………………. 

=  nkhj;jj; Njrpa tU-
khdk; 

+ ntspehl;bypUe;J 
fpilj;j Njwpa 

eilKiw 
khw;wq;fs;. 

13) nrytplf;$ba 
jdpahu; tUkhdk; 

=  jdpahu;  tUkhdk; - ……………………. 

14) re;ijtpiyfspyhd 
nkhj;j cs;ehl;L 

cw;gj;jp 

=  mbg;gil tpiyfspy; 
nkhj;j cs;ehl;L tU-

khdk; 

+ ……………………
……………………. 

15) nkhj;j 
cs;ehl;Lr; 
Nrkpg;G 

=  jdpahu; 
Efu;T 

+ ………………
………………
…………….... 

+ nkhj;j KjyPL 
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16) nkhj;j 
cs;ehl;L 
cw;gj;jp 

=  nkhj;j 
cs;ehl;Lr; 
nryT 

+ Vw;Wkjp - ……………………
…………………... 

17) nkhj;j Njrpa 
tUkhdk; 

=  nkhj;j 
cs;ehl;Lr; 
nryT 

+ ………………
………………
………………. 

+ ntspehl;bypUe;jhd 
Njwpa Kjd;ik 

tUkhdk; 

18) nkhj;j cs;ehl;Lr; 
Nrkpg;G 

=  nkhj;j cs;ehl;L     
%yjdthf;fk; 

- ……………………. 

19) Njrpa Nrkpg;G =  nrytplj;jf;f nkhj;jj; 
Njrpa tUkhdk; 

- ……………………. 

20) ………………………
……………………… 

=  nkhj;j cs;ehl;Lr; 
nryT 

+ Vw;Wkjp 
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fl;Liu mikg;G tpdhf;fs; 
 
1) fw;gpjkhd nghUshjhunkhd;wpd; Njrpa fzf;fPL njhlu;ghd juTfs; tUkhW. 
(ngWkjpfs; ahTk; kpy;ypad; &gh MFk;.) 

tpguk; njhif 

tptrhag; nghUshjhu eltbf;ifapd; $l;ba ngWkjp 10000 

ifj;njhopy; nghUshjhu eltbf;ifapd; $l;ba ngWkjp 18000 

gzpfs; eltbf;ifapd; $l;ba ngWkjp 25000 

epiyahd %yjd Efu;T 2000 

cw;gj;jp kPjhd khdpaq;fs; fopj;j tupfs; 5000 

ntspehl;bypUe;jhd Njwpa Kjd;ik tUkhdk; 9000 

ntspehl;bypUe;jhd Njwpa eilKiw khw;wy; 6000 

nkhj;j cs;ehl;L cw;gj;jpr; RUf;fp [2010=100] 120 

gpd;tUtdtw;iwf; fzpg;gpLf. 
 
1. re;ij tpiyapy; nkhj;j cs;ehl;Lw;gj;jp? 
2. re;ij tpiyapy; nkhj;jj; Njrpa tUkhdk;? 
3. re;ij tpiyapy; Njwpa cs;ehl;Lw;gj;jp? 

 
2) fw;gpjkhd nghUshjhunkhd;wpd; Njrpa fzf;fPL njhlu;ghd juTfs; tUkhW. 
(ngWkjpfs; ahTk; kpy;ypad; &gh MFk;.) 

tpguk; njhif 

Copau; el;l <L 4000 

Njwpa njhopw;ghl;L kpif 6000 

fyg;G tUkhdq;fs; 800 

epiyahd %yjd Efu;T 1000 

cw;gj;jp kPjhd cjTnjhif fopj;j Vida tupfs; 50 

cw;gj;jp kPjhd cjTnjhiffs; fopj;j tupfs; 1100 

ntspehl;Lj; Njwpa Kjd;ik tUkhdk; -500 

gfpug;glh ,yhgq;fs; 150 

fk;gdp ,yhgq;fs; 90 

r%fg; ghJfhg;Gf;fhd nfhLg;gdTfs; 30 

jdpahu; tUkhd tupfs; 100 

tPl;Lj; Jiwf;Fupa mur khw;wy;fs; 50 

    gpd;tUtdtw;iwf; fzpf;f 
 

1. re;ijtpiy nkhj;j cs;ehl;Lw;gj;jp? 
2. re;ijtpiy nkhj;jj; Njrpa tUkhdk;? 
3. jdpahu; tUkhdk;? 
4. nrytplf;$ba jdpahu; tUkhdk;? 
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3) fw;gpjkhd nghUshjhunkhd;wpd; Njrpa fzf;fPL njhlu;ghd juTfs; jug;gLfpd;wd. 
(ngWkjpfs; ahTk; kpy;ypad; &gh MFk;.) 

tpguk; njhif 

tPl;Lj;Jiw Efu;T 500 

,yhg Nehf;fkpd;wp tPl;Lj; Jiwf;F toq;Fk; Nritfs; 200 

mur Efu;T 100 

nkhj;j epiyahd %yjd Mf;fk; 300 

,Ug;G khw;wk; 200 

ngWkjpapy; Vw;gLk; khw;wk; 100 

nghUl;fs; fhuzpay;yhg; gzpfspd; Vw;Wkjpfs; 400 

nghUl;fs; fhuzpay;yhg; gzpfspd; ,wf;Fkjpfs;; 250 

ntspehl;L Kjd;ik tUkhdg; ngWif 225 

ntspehl;L Kjd;ik tUkhdf; nfhLg;gdT 125 

ntspehl;Lj; Njwpa eilKiw khw;wy;fs; -50 

    gpd;tUtdtw;iwf; fzpf;f 
 

1. jdpg;gl;l Efu;Tr; nryT ahJ? 

2. nkhj;j cs;ehl;L %yjdthf;fk; ahJ? 

3. nkhj;j cs;ehl;Lr; nrytpd; ngWkjp ahJ? 

4. re;ijtpiy nkhj;j cs;ehl;Lw;gj;jp ahJ? 

5. re;ijtpiy nkhj;jj; Njrpa tUkhdk; ahJ? 

6. nkhj;j cs;ehl;Lr; Nrkpg;gpd; ngWkjp ahJ? 

7. nkhj;jj; Njrpa Nrkpg;gpd; ngWkjp ahJ? 

8. nkhj;j %ytsq;fspd; ngWkjp ahJ? 

9. nkhj;j %ytsq;fspd; gad;ghL vt;tsT? 


